
Online Appendix B. Regional richness and NPP maps and relationships 

Figure B1. Map of the 107 regions of the world utilized in our analyses, depicting spatial 

variation in annual net primary productivity (g C m-2) within them at ~1° resolution. Regions are 

assigned a unique identifier in the form xx0yy, where x and y refer to the horizontal and vertical 

coordinates of the region using a coordinate system anchored in the lower left. For example, the 

region ID for the northwesternmost region examined in this study is 8014 since the region occurs 

in the 8th column and 14th row. 

 

Figures B2-107. Each region is identified by its region ID, and spatial variation in NPP and 

species richness is portrayed as in Figure 3. Values increase from blue to red and are scaled 

differently on each map. In addition to the maps, the following 4 plots are provided: species 

richness versus area, species richness versus mean NPP, species richness versus total NPP, and 

observed richness versus richness predicted by a model including both area and mean NPP. In 

each plot, the four spatial resolutions ranging from ~1° to ~8° are represented by circles, squares, 

triangles, and the @ symbol, respectively. 
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